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1. 99 wATE QiE n w1 o', s fau 4. 3fe Cy, C, Cp, +++, Cpy A+X)" F YER H

112 -
(u) 1% Wl i=yI N N 8, A G +Cy +Cy + - + C,, F HA
1+i w1 R7
(a) 2
(a) 2"
(b) 4
(c) 6 (b) 2™ -1
d) 8
(@) (c) 2n-1
2. x H R W @l
y d) 2™ -2
108 osxSinX=1 #H Fge FWdl 3, i &
O<x<£%?
5.4 a+b+c=4 3 ab+bc+ca=0 %, @
@ ~ AR
12
m ab e
S b ¢ a
(c) g cab
(d) % 1 HE 187
3. 4R arfrE (@) 22
a b ¢ (b) -64
a; by ¢
&5 By 6 (c) -128
F1HE A B, @ GRS (d) 64
pay b qo
pa; by qcy
A 6. k% W T s wm €, fme fo wdiem
Pla P8 A8 2sin x =2k +1 %1 T & 87
(p20¥ 1,g=#0311)
1 HH 1 87 (@)
(@) pA (b) TH
(b) gA
A
() (p+aq)A i
(d) pgA (d) =R
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1. The smallest positive integer n for

which

2
-
= =1
(1+i)

4. If Cy, G, Cy, -, C, are the coefficients

in the expansion of (1 + )", then what
is the value of C; +Cy +C3 + -+ C,?

(a) 2"
where i=\f—-I, is
(@) 2 =2
(b] 4 (C} 2n—l
() 6
(d) 8 (@ 2m -2

2. The value of x, satisfying the equation

% |
10g cos x Sin x =1, where 0 < x i 5. f a+b+c=4 and ab+bc+ca=0, then

what is the value of the following

@ = determinant?
12
b)), = a b c
3 b ¢ a
n
c) — c a b
(c) 2
(@ = (@) 32
6
(b) -64
3. If A is the value of the determinant
[27] bl Cl {C} -128
a2 b2 C2
a3 b3 Cs (d) 64
then what is the value of the following
determinant? 6. The number of integer values of k,
pay b qe for which the equation 2sinx =2k +1
pay, by, qc, has a solution, is
pag bz qcg
(a) zero
(p#0or 1, g#0 or 1)
(a) pA (b) one
(b) aA
(c) two
(c) (p+q)A
(d) pagh (d) four

FJY-D-MTC/66A 3 [ P.T.O.



7. 3R a), a5, ag, -+, ag GP # &, @GR 10. 3R Z =1+i %, &l i=vCI 8, @ Z+ 2 =
zZ

Inag, Ina, Inaz 97 (vigem) =1 87
Ina; Ilnas Inag
Ina; Inag Inag (@) 1
%1 A 1 87 (b) 2
@ 0 fc) 3
(b) 1 (d) 4
(c) 2
(d 4 11. 3f2 A 3R B3 30 UHR % 48 ¢ % AB 6
FE nxn g, @ F=fafea & & F9-a o
77
8. 3k fam wiiew x2 +2x+k=0 % W@
aEafe 8, al (@ A R B AR HR ¥ of =g @R
(@) k<O L
(b) k<0 (b) WD A I B F W dEgE A
Hfen)
() k<1
- (c) A IR BT UM HIf2 % & IRy
(d) A 3ir B wfd =1 wm g s
9. If2 n =1001%, 4 R
1o ogee L oo oo
logon logzgn logyn logygo 1 12. fa-fm wifE & W e oo @ §,
o WR #eFa 30 | WY AT wEA 87
= qE 41 87
(a) O ok 2
M 1 (b) 3
() 2 (@ 4
(@ 3 (d) 6
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7. If @,aya3,,ay are in GP, then
what is the value of the following
determinant?

Ing; Ina, lnag
Ina; Inas Inag
In ay In Qg In Qg

(@) 0O
(b) 1
c) 2

(d) 4

8. If the roots of the quadratic equation
x? +2x+k =0 are real, then

(a) k<O
(b) k<0
(c) k<l

(d) k<1

9. If n=100!, then what is the value of
the following?

1 1 1 1
+ + R e ——
logon logzn logyn logygo 1

(a) 0O
(b) 1
(c) 2

(@ 3

FJY-D-MTC/66A

10. If Z =1+1, where i =+/-1, then what is

the modulus of Z+%?

(a) 1
(b) 2
fc) 3

(d 4

11. If A and B are two matrices such that

AB is of order nxn, then which one
of the following is correct?

(@ A and B should be square
matrices of same order.

(b) Either A or B should be a square
matrix.

(c) Both A and B should be of same
order.

(d) Orders of A and B need not be
the same.

12. How many.matrices of different orders

are possible with elements comprising
all prime numbers less than 30?

(a) 2
(b) 3
(c) 4

(@ 6

[ P.T.O.



13. M wif 16.:rﬁtanx=-§%a:mxﬁaﬂaa§vhﬁ%,

2|79 A sin x- cos x & °H F1 87
r s {a) i
2, &l p, g, r 3N s, 20 A DA FH it =) 25
YUF AN T § | T GRE F1 A 12
o 1 R? ® =5
(@ 215 a 8l
(b) 311 25
(c) 317 @ -2
25
(d) 323
14. 3 A ik B#If2 2 & W o =g & % 17. cosec(%)sec(%“)‘ﬂm?W%?
det(AB) =det(BA) %, d fm=faflas & ¥
FH-41 T }7 4
(a) 3
(@) A ¥l W@ € & THE AFE e
iR (b) 4
(b)) B % @ @ TF THih AHE B (c) -4
=1fey | i
. () —~—
(c) A 3R B3IH F 760 @ @i AR J3
a1 =feu)
(d) A R BF THF AGE aH1 FH0 T 18. 4f "nfs
) .
| X 13
0 0 1|=0
15. Icot2xcot4x-cot4xcot6x- it G
cot 6x cot2x
forass st 27 ?, @ x forah aem 27
(@) -1 (@) 2312
(b) O (b) 3413
) 1 () -131
(d) 2 (d 334
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13. Let 16. If tanx=—4§ and x is in the second

A (P 4 quadrant, then what is the value of
r 8 sin x-cosx?
(@) :
where p, g, r and s are any four 25
different prime numbers less than 20.
What is the maximum value of the (b) 12
determinant? 25
fa) 215 () -5
25
(b) 311
12
(€ 317 =
(d) 323 _
17. What is the value of the following?
14. If A and B are square matrices of order cosec(zz]sec(@l)
2 such that det(AB)=det(BA), then 3
which one of the following is correct? 4
(@ —
(@) A must be a unit matrix. 3
(b) B must be a unit matrix. (b) 4
(c/ Both A and B must be unit () -4
matrices.
4
) @) -——
(d) A and B need not be unit V3
matrices.
18. If the determinant
cot 2x cot 4x —cot 4x cotbx —cotbx cot 2x 0 0 1|=0
1 x 4
equal to?
then what is x equal to?
(a) -1
(a) -2 or 2
L (b) -3 or 3
(¢ 1 fc) -1 or 1
(d) 2 (d) 3 or 4

FJY-D-MTC/66A 7 [ P.T.O.




19. tan31° tan33° tan 35° -:- tan 57° tan 59° 22. (sin24°+ cos66°)(sin 24° - cos66°) T HH

1 187 w71 87
(@) -1 (@ -1
(b) O
(b) O
(c) 1
¢ 1
(d) 2
@ 2
20. 3f
1 x x+1 23. & s, Fedt i g9 % FR W 120° F
flg=| 2x x(x-1) x{x +1) v sl w81 Sfan A wer fea 87
3x(x~-1) 2(x-1)(x-2) x{x+1)(x-1)
(@ 2 -1%F3
2, @ F=1)+ £(0) + £(1) Fras ser 27
(b) 3 -13F%
(a) O
® 1 (c) 27
(c) 100 (d) 3 T
(d) -100
24. (1+cotf —cosech)(l +tan 6 +secH) ferers
21, THiF sin ! x—cos™! x =g$1ﬁl’» TR R
1
(a) Eﬁﬁﬁqﬁ% g
(b) THEAH TG R (b) 2
(c) ATAE (c) 3
(d) TEHEA TE T d) 4

FJY-D-MTC/66A 8



19. What is the value of the following?

tan31° tan 33° tan 35° --- tan 57° tan 59°

(@ -1
(b) 0
€ 1
(d 2
20. If
1 x x+1
flo=| 2x x(x-1) x(x +1)

3x(x-1) 2(x-1)(x-2) x(x+1)(x-1)

then what is f(-1) + £(0) + f(I) equal to?
(@) O

(b) 1

(c) 100

(d) -100

1 1

21. The equation sin™" x-cos™ " x =% has

(a) no solution
(b) unique solution
(¢) two solutions

(d) infinite number of solutions

FJY-D-MTC/66A

22. What is the value of the following?
(sin24° + cos66°)(sin24° - cos66°)
(a) -1
(b) 0
fc) 1
(d) 2
23. A chord subtends an angle 120° at the

centre of a unit circle. What is the
length of the chord?

(a) 2 -1 units
(b) 3 -1 units
(c) 2 units

(d) 3 units

24. What is

(1 +cotB —cosech)(1 + tan 6 +sec6)

equal to?
{a) 1
(b) 2
(c) 3

(@ 4

[ PT.0.




1+tan20 (1-tan®)2 . 28. 6 m @El T Hid et Sl wasde & o
. l+cot29_[1—00t9] e e ¥ 6 m = & forg o g ) Hf F
R, vavEe ¥ Y F ITTA B 75° B| TS

w9 ) Jerd w7
o (@ 12 m
(c) 2tan® 5} B m
(d) 2cot8 o s
26. 2 cm TAE Y AA ThOGA Y F (d) (6+3V3)m
a1 87 :
(@) % 29, w& G 1 I F 45° B, q@ B T A

WorE, 60° IAFF HIV W T4 el WITE A
x HiR st @ 21 IR T f FER

(b) i ' 5(3 ++/3) m ®, a x For awrar 27
(a 8 m
3n
() —
S (b) 10 m
c) 12 m
@ = “
(d) 15 m
27. 3R 7sin@+24cos8=25 R, @@ 30. 9 3cos@=4sinb B, A tan(d45° +6)
(sin 8 + cos6) &1 WA 41 87 ' = 27
(@) 1 - (@) 10
26
b > () 7
7
© 3 @ 5
31 7
@ =2 L @ 7
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25. What is 28. A ladder 6 m long reaches a point 6 m
below the top of a vertical flagstaff.

1+tan28_(1mtan9)2 From the foot of the ladder, the

l1+cot?8 1-cotB elevation of the top of the flagstaff

is 75°. What is the height of the

equal to? flagstaff ?
(@ O (@ 12 m
(b) 1 (b)) 9 m

' (c) 2tan® (¢ 6++3)m
(d) 2coté

(d) 6+3V3)m

26. What is the interior angle of a regular

octagon of side length 2 cm ? 29. The shadow of a tower is found to be

7 x metre longer, when the angle of
(@) 2 elevation of the sun changes from
60° to 45°. If the height of the tower is
3n 5@ ++/3) m, then what is x equal to?
(b) —
4
(@) 8 m
3
(c) gn (b) 10 m
c) 12 m
3n ()
(d) —
8 (d) 15 m
27. If 7sin®+24cosB =25, then what is 30. If 3cosB=4sin6, then what is the
the value of (sin®+cos6)? value of tan(45° +6)?
(@ 1 (a) 10
- 26
b) — b) 7
(b) o (b)
6 7
(c) = (c) 5
31 7
d) — d) —
(d) T (d) %

FJY-D-MTC/66A 11 ' [ P.T.O.




31. tan‘lx+cot'1x=£%,3{3 34. H‘f‘ ABC %1 &3%d H %, Toret {Fm!
2 a=10cm, ¢ =4 cm 3R Hv B =30° §?

fa) xeR
(a) 16 cm?
(b)) Fad xe R—(-1,1)
() Fad xe R-{0}
(b) 12 cm?
(d) ¥9d xe R-[-1,1]
(c) 10 cm?
32'wﬁtanA=%%,?l‘lc032A‘f’m“H%W%?
(d) 8 cm?2
24
(a) 5'5'
(b) % 35. Frefafaa wot v few it ;
1. A={1,35} 3R B=(24,7 T
<4 Y= B
c] — TTE ¢t
928 2. A={1,509} ¥ B={,550909 ¥
= 2
@ 2
25 I FYA A A PE-A/R A R/
: (a) Faa 1
33. @ B it g5t m, n 3R Vm? +n? +mn
#1 7 Bige & =gaaniit 1 drmee w0 27
(b) *aw 2
(@) 45°
) e _ (c) 1 3R 23t
(c) 75° : EATAE A
(@) 90% 2 op T =salheRt 4t (d Fd13RTd2

FJY=D-MTC/66A 12



31. tan~!

(@)
(b)
(c)
(d)

32. If tanA=—,

x+cot ! x= g holds, when

XeR
xe R-(-1,1) only
x € R-{0} only

xe R-[-1,1] only

! then what is cos2A

7

equal to?

(@)

(b)

(c)

(d)

24
25

18
25

12
25

33. The sides of a triangle are m, n and

2 2

m< +n“ +mn. What is the sum of
the acute angles of the triangle?

(a)
(b)
(c)
(d)

45°

60°

75°

90°

FJY-D-MTC/66A 13

34. What is the area of the triangle ABC

with sides a=10 c¢m, ¢=4 cm and
angle B =30°7

(@) 16 cm?
(b) 12 cm?
(c) 10 cm?

(d 8 cm?

35. Consider the following statements :

1. A={1,3 5} and B={24,7} are
equivalent sets.

2. A={1,59) and B={15599
are equal sets.

Which of the above statements is/are
correct?

{a) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

" [PT.00



36. F=fafaa 9 w ffEr fifvw .

1. for vg=m, Yo% 9= 1 I9WE=A ¢
2, VrE U= A9 € IuEg R

3. 3Rk el wgem # 10 sEwa €, @ W
g g9=d (TR W) # 1024 g4
gl

I FoE 8§ A AR &7
(@) FEa 1 R 2
(b) FaE 2 3R 3
() FFa 133

(d 1,23R3

37. HF ST R Uk §eY § S xRy % 9 F w9

gt R aft o Fae Ik 2x +3y =20 %,
&l x, ye N 8 R (x, y) 1 &% fomt
g4 &7

(a) 2
(b) 3
(c) 4

(d 6

RFJY-D-MTC/66A
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38, F=fafaa wut w =R fifsw .

1. T % f:1Z-oZ S fl=x+1
T hnfe R, R ER ¥ wy-uiy
sr=orEs i B

2. T % f:NoN, 1 flx)=x+1
TR sRwifa ®, ol ? fog e
e

I HYEl # | BH-w1/3 v R/R?
(@) ¥Fad 1

(b) e 2

(c) 1 3R 23

(d [@1siRad2

39. T gy € Z % ded # Fafafas w e

I :

1. z7)=@)"

2. zZz7l=|zpP

e 3 A A-a/A w2/
(a) Faa 1

(b) 9 2

(¢) 1 3R 2aHt

(d A1 eRad2



36. Consider the following statements :

1. The null set is a subset of every
set.

2. Every set is a subset of itself.

3. If a set has 10 elements, then
its. power set will have 1024
elements.

Which of the above statements are
correct?

(@) 1 and 2 only

(b) 2 and 3 only

fc) 1 and 3 only

(d 1,2 and 3

37. Let R be a relation defined as xRy
if and only if 2x+3y=20, where
x, ye N. How many elements of the
form (x, y) are there in R?

(@ 2

(b) 3

(c) 4

(d) 6

FJY-D-MTC/66A

38. Consider the following statements :

1. A function f:Z— Z, defined by
f(x) =x+1, is one-one as well as
onto.

2. A function f:N — N, defined by
f(x)=x+1, is one-one but not
onto.

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

39. Consider the following in respect of
a complex number Z :

1. =@

2. 22 1=1ZP

Which of the above is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[PT.0.



40. fF @=s wfy e Z % ded A Frefafaa 43. 3ft wfiww 5x2 +26x+k=0 F & T,

FYA! T faem A TR A F A ¢, A1 k T HE 87
1.z 3% 3u% gyl 1 o & st

e R (@ 2
2. Z 3R 9% gt a1 ArTha U St

e | ) =
3w FEl § A FH-w/d v /R (c) S
(a) Fad 1 (d) 8
(b) Fad 2

3l 2 2t
b 44. 8 fawfedl # 3 5 fafdt B w An R
(d adq 1A 2 foran wRR @ g1 SN wehar @ arfe TR fod
Rt =t wifirer 7 R smo?
41, wfdg gem 24 ()2 w uE R, (@ 42

Weine N3Ri=/-1%7
@ -1 & e
() 1 () 21
(c) 2 _
(d 2

42, 7R o 3R B WhFW 4x2 +2x-1=0 % A 45. (1+4x+4x2)5 ¥ WOR § 997 W W P

2, @ fr=ferfas & @ #9-w v 7 w1 27

(@) B=-20*-20 (@) 8064
(b) B=4a® -3a (b) 4032
(c) B=a?-3a (c) 2016
(d) B=-20°+20 (d) 1008

FJY-D-MTC/66A 16
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40. Consider the following statements in
respect of an arbitrary complex
number Z :

1. The difference of Z and its
conjugate is an imaginary
number.

2. The sum of Z and its conjugate is
a real number.

Which of the above statements is/are
correct?

(a) 1 only

(b} 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

41. What is the modulus of the complex
number i?**!(-i)?*-1 where ne N

and i=+/-1?
fa) -1

(b) 1
€ 2

1 (@) 2

42. If o and B are the roots of the equation
4x? +2x~1=0, then which one of the
following is correct?

——

(@) B=-202-2a
(b) Bp=4a?-3a
(c) B=a?-3a

(d) B=-202+2x

FJY-D-MTC/66A 17

43. If one root of 5x2 +26x+k=0 is

reciprocal of the other, then what is
the value of k?

(@ 2
(b) 3
© 5

(d) 8

44, In how many ways can a team of

5 players be selected from 8 players
so as not to include a particular
player?

(@) 42
(b) 35
c) 21

(d) 20

45. What 1is the coefficient of the

middle term in the expansion of
(1+4x+4x2)°%?

(@) 8064
(b) 4032
(c) 2016

(d) 1008

[ P.T.O.



46. C(n, 1)+C(n, 2)+ - +C(n, n) Torad awa
77

(@ 2+22+23% +... 42"
() 1+2+22% 423 +... 42"
€ 1+2+22% +2% +... 42771

(@ 2+22 +2% 4+...42"71

47. (1+x2* ¥ wan #, yom iR ifm @ &

Ui 1 ATHE H R, SRl n TH oA P
L

(@) 1
(b) 2
fc) n

(d) 2n

48, 72 fFdl AP 1 Ugel W8 2 R, 3R WEd U™
@ F ATEd, Wad Ui 98l & area @
TH-NUE % AR 2, d TEA W & H
AR 87

(@ -500
(b) -250
(c) 500

(d) 250

FJY-D-MTC/66A 18

49, F=fafaa wuet e il

1. IR Rl GP % yo% 16 # guF
& | o T S, d i s
i GP @ 2|

2. af fdt GP ¥ ye® W F gF YR
vem ¥ fwfa fen smg, @ wiomwh
Ig6A it GP € 2

I FoEl A A AU/ T R/E
(@) Fad 1

(b) @ 2

(c) 1 3R 23

(d) AW 1IAAR2

50. 3R st A groah @ EEf A @, @ 1, 2,

3, 4, 5 @ w FEm W FeeR 5-3HE
JVTST EATd ST 1 el 87

(@)
(b)
(c)

5
4
3

(d 0O

51. 7R flx+1)=x%-3x+2 B, @ f(x) FFEs

a7 \

(@ x2-5x+4
(b) x?-5x+6
() x%?+3x+3

(d) x?-3x+1




46. What is Cn1)+C(n 2)+--+C(n n) 49, Consider the following statements :
equal to? . =
1. If each term of a GP is multiplied
(a) 2422423 4. 420 by same n.on—zero numbe}', then
the resulting sequence is also
a GP.

2 3 n
(b) 1+2+2% 427+ +2 5. If each term of a GP is divided by

same non-zero number, then the
() 1+2+22 +23 .. 4on-l resulting sequence is also a GP.

Which of the above statements is/are

>
(d) 2+2%+23% +... 42"} e
(a) 1 only
. (b) 2 only
47. What is the sum of the coefficients of (¢) Both 1 and 2
first and last terms in the expansion
of (1+x?", where n is a natural (d) Neither 1 nor 2
number?
50. How many 5-digit prime numbers can
(@) 1 be formed using the digits 1, 2, 3,4, 5
i i if the repetition of digits is not
(b) allowed?
(¢ n (@ 5
(d) 2n (b) 4
(¢ 3
48. If the first term of an AP is 2 and the (d) 0

sum of the first five terms is equal to
one-fourth of the sum of the next

= i 2
five terms, then what is the sum of 51, If flx +1)=x ~3x +2, then what is f(x)

the first ten terms? equal to?

(@) -500 (@) x*-5x+4
(b) 250 (b) x*-5x+6
c) S00 () x*+3x+3
(d): 250 (@) x*-3x+1
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52. 3R x2, x, -8 AP # &, @ frafafaa & |
FH-91 9E 'Y

(@) xe{-2}
(b) xe{4)
() xe{-24}

(d) xe{-4,2}

53. fFfl GP #1 diHU w2 3 B 39 TEa Ui 9a
1 oHGE F1 87

(a) 81
(b) 243
(c) 729

(d) @ty wtwel % @ fuifa 7@ e
1wl

54, 7da ¥R ¥ & wrie H i 9w @ jd
WY yEgd 2(i + j) F TR B W RO
1 AH 1’7
(a) O
(b) 2

(c) 4

(d) 6

FJY-D-MTC/66A
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55. G&41 2, 4, 6, 8 H W W IN @ sggal

T wft gwa Ui =9 9 §) U8 wefi
IR % AET 1 AHd 1 B 7

(a) 128
(b) 64
(c) 32

(d O

56. 30 4x2 +4y? -20x+12y-15=0 A

P = R7
(@) 14 R
(b) 10'5 TFK
(c) 758
(d) 35 THE

57. W Wi Sgds ¥ @ wArm W (-3, 4),

(0, -4) 3t (5, 2) &1 FaH! e 7 R
(@ (2,10)
(b) (2, 9)
¢ (3,9)

(@ (4, 10)

———



52. If x?, x, -8 are in AP, then which one
of the following is correct?

(a) xe{-2}
(b) xe {4
(€ xe{-24}
(d) xe{-4,2}
53. The third term of a GP is 3. What is the
product of its first five terms?
(a) 81
(b) 243
(c) 729

(d) Cannot be determined due to
insufficient data

54. The element in the ith row and the
Jth column of a determinant of third
order is equal to 2(i+ j). What is the
value of the determinant?

(a) O
(b) 2
(c) 4

(d) 6
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55. With the numbers 2, 4, 6, 8, all the

possible determinants with these four
different elements are constructed.
What is the sum of the values of all
such determinants?

(a) 128

(b) 64

(c) 32

(d) O

56. What is the radius of the circle

4x? +4y? -20x+12y-15=07?
(a) 14 units

(b) 10-5 units

(c) 7 wunits

(d) 3-5 units

57. A parallelogram has three consecutive

vertices (-3, 4), (0, —4) and (5, 2). The
fourth vertex is

(@) (2, 10)
() (2, 9)
¢ (3,9

(@) (4, 10)

ROPLOTN -] PAYO.




58. 9fk @i y+ px =1 @Ty-qx=2m'€iﬁ
%, @ Prafafes # ¥ - e 27

(@ pq+1=0

(b) p+gq+1=0

() pg-1=0

(d p-gq+1=0

59 a2 AP # A, B 3ln C & @ wa W@
Ax +2By + C =0 & 7% fhaa forg @ g
et g Fraa fag R

(@) (0, 0)
(b) 1, 1)
(e) (1, -2)

(d) (1, -1)

60. a2 fredt 2dw Yan g (-4, 2) fag =1 wfifers
(@, —2) ?, 0 =i Y 1 et = e

(@ y=x
(b) y=2x
(c) 4y=x

(d) y=4x

FJY-D-MTC/66A
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61. 775 (p, p-3), (q+3, g 3N (6, 3) F A

ffefiaa et v o= $if
1. 3 fog v wa @ w fem #

2. p 3N g% fdl oft wm % fow 3 fog
N e v Tgata § @ 8

Iy FAl 3 @ FA-A/8 T /e
(@ Faa 1

(b) ¥ 2

(c) 1 3R 23aH

(d Fd13iRad@2

62. x-2=0 3R Bx-y-2=0 @A F =¥

&1 AR T 87
(@) ©0°

(b) - 30°

(c) 45°

(d) 60°

63. W @ ABCD % fawmil #1 wfress forg

g W} i g o i A@, 2) W R
faml BD w1 wefis #4127

(a) 2x+y=0
(b) 2x-y=0
() x+2y=0

(d x-2y=0



58. If the lines y+ px=1and y-gx =2 are
perpendicular, then which one of the
following is correct?

(a) pg+1=0

(b) p+gq+1=0

(c) pg-1=0

(d p-q+1=0

59. If A, B and C are in AP, then the
straight line Ax+2By+C=0 will
always pass through a fixed point.
The fixed point is

(@) (0, 0)
(b) 1, 1)
(e (1, -2)
(@ (1, -1)

60. If the image of the point (-4, 2) by a line
mirror is (4, -2), then what is the
equation of the line mirror?

(@ y=x
(b) y=2x
fc) 4y=x

(d) y=4x
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61. Consider the following statements in

respect of the points (p, p-3), (@+3, q)
and (6, 3) :

1. The points lie on a straight line.

2. The points always lie in the first
quadrant only for any value of
p and q.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

62. What is the acute angle between the

lines x-2=0 and V3x-y-2=07?
(a) 0°
(b) 30°
(c) 45°

(d) 60°

63. The point of intersection of diagonals of

a square ABCD is at the origin and
one of its vertices is at A(4, 2). What is
the equation of the diagonal BD?

(a) 2x+y=0
(b) 2x-y=0
fc) x+2y=0

(d x-2y=0

B8\ TM IO



64. IR & FfwEww (FREEET) W FE g 66. 3 A Rl % 9= W ww F B, e

(3tan®, 2sec6) ?, @ wfwEeE A k= feg-a1gama (6, 3, 6) R (3, 3, 0) &7
1?7 -
ey (@ =
2
®) 3
2

(c)

w8

(c) (d) g

£

(d) V13 67. a2 @1 x-1=2(y+3)=1-2z F &FH-FawEA I

ar Lm ng @it +m* +n? fus sum R?
(@) 1
65. TF Yip-FE (A Ja) B e (o) F ®
el # fr=fafas w faem $ifs
i i‘ﬁ%ﬁme=0 (c) E
2. TEE Ffme=1 £t
3. ﬁﬁg’ﬂ%ﬁﬂe<l (d) 4
39w § | FA-A a6 87
68. Y-8 W A(l, 7,-5) 3R B(-3,4,-2) F
(@) Faa 1 3R 2 Sred 9 YaEe F1 WA ¥ 87
(b) =@ 2 3 3 (@ 5
(b) 4
(c) Faa 1 3R 3 © 3
(d 1, 23R3 (d 2
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64. If any point on a hyperbola is 66. What is the angle between the two lines

(3tan®, 2sech), then what is the having direction ratios (6,3, 6) and
eccentricity of the hyperbola? (3,3,0)?
k14
3 (@ —
== 6
(@) 5
n
: (b) 2
(b) 5
(0 =
3
Ji1 n
NS d) =
(c) ) (d) 5
J13 67.If , m, n are the direction cosines
(@) 2 of the line x-1=2(y+3)=1-2 then
what is [* +m* +n* equal to?
(@ 1
65. Consider the following with regard to (b) 21
eccentricity (e) of a conic section : 27
1. e=0 for circle (c) L
27
2. e=1 for parabola
(d) 4

3. e<]1 for ellipse

68. What is the projection of the line

Which of the above are correct? segment joining A(L 7,-5 and
B(-3, 4, -2) on y-axis?

(a) 1 and 2 only

(@ S
(b) 2 and 3 only (b) 4
(¢ 1 and 3 only (c) 3
(d 1, 2 and 3 (@ 2
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69. k % ¥ W= wrl A won e ¥, R 7o, R wRw 2=d+B, W [d)=1B|#0 }, ¥
f (k1,3 3 (1, -2 k+1) Frgat =

e # Ffefad w9 w fER ;
Sired et T (15, 2, —4) fg @ o dw T fEm Hifsig
Tl A1 1L 2,@-Dyweat
Sl 2. 2, (@xb)W a2
(b) TH
© A I FuAl § A BA-w1/Q wh B/
L, (@) Fad 1
70. eifeg ¥ WG x+y+2z=3 | @R T @ (b) Fad 2
T UE 2
(@ (0,1, 2) c) 1 323
e SR (@ Fd13iRad2
) (1,1, 1)
{d) (_13 1; 3)

71. w GRW 7 =ai +bj, x I y W g W 73. 3R @ I b W TR F QA whw B %

i e A o e i |3 +B|=1d-D|=4 ¥, & Frfufem & 2
2 3 B, @ a 3R b F wH W w0 E FH- wE B

11 s
. 32 @) @ I B s € s w9 iR
(b) -J%—J% (b) @ Ew@ € b F TR B =R
© 2,2 (c) 3 FEw@ @ bW T A TR
(d 2,2 (d) 3o ¥EwE @ b ¥ T A T
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69. What is the number of possible values

of k for which the line joining the
points (k,1,3) and (I, -2 k+1) also
passes through the point (15, 2, -4) ?
(a) Zero
(b) One
{c) Two

(d) Infinite

70. The foot of the perpendicular drawn

from the origin to the
X+y+z=3 is

plane

@ (0,1, 2)
(b) (0, 0, 3)
(¢ (1, 1, 1)

(d} (_Is 11 3)

71. A vector 7 =ai +bj is equally inclined

to both x and y axes. If the magnitude
of the vector is 2 units, then what are
the values of a and b respectively?

(@)

M| =

?

B[ =

Tl

Gl

€ 2,2

d@ 2, 2

FJY-D-MTC/66A
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72. Consider the following statements in

- =5 2
respect of a vector ¢ =a +b, where
—
[d|=|b|#0 :

—
1. Cis perpendicular to (&'—b).

2. Cis perpendicular to (&'xg}.

Which of the above statements is/are
correct?

{a) 1 only
(b) 2 only
{¢) Both 1 and 2

(d) Neither 1 nor 2

_.*
73. If @ and b are two vectors such that

la +g|=|&+—g|=4, then which one of

the following is correct?

(@) @ and b must be unit vectors.
(b) @ must be parallel to b.

(c) @ must be perpendicular to b.

(d) d must be equal to b.

[P.T.O.




74. AR 4, b 3iv ¢ waeia £, @ 76. 3R

S e
lim

=-1
(2 x3b)- 42 +(5b x37)- 64 X0 0 Lyt

R, @ aF UE = R?

T wer B7
(@ -1
(a) 114 (b) 0
(b) 66 (c) 1
(@ 2
€ O
(d) -66 77. @ F wEw %=x+1 T oW A
(m/s #) & gafeg & femm a1 1 @ w0
T 24 m N g T FA ¥ B (5
75. Prafafes wuAt w ffEr fifsg %) wm?
1. 2 uee alkw #1 wlka PR off @ m (a) In24
T WA wiew € aan #1
(b) In5
2. @ s afwll w1 ARw PEAEa T
T (1) B R1 (c) 2In5
3. 2 9% wiewl F Iea F IREM FH (d) 21n4
e % it | ghen g e R1
_J@=X) g fores w37
I Al A A PH-Y el T &7 e 0 £+ fla-x) A
(@) ¥ 132 )a
() Faw 2 3R 3 iieae
(fc) O
(c) ¥aw 1 3R 3
a
[d 1,2#x3 @ 3
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74. If a, 3 and ¢ are coplanar, then what
7 —+ = —r =¥ e 0
1s (2a x3b)-4c +(5b x3¢)- 6a equal to?

(@ 114
(b) 66
fc) O

(d) -66

75. Consider the following statements :

1. The cross product of two unit
vectors is always a unit vector.

2. The dot product of two unit
vectors is always unity.

3. The magnitude of sum of two unit
vectors is always greater than the
magnitude of their difference.

Which of the above statements are
not correct?

(@ 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only

(d 1, 2 and 3

FJY-D-MTC/66A

76. If

x a
. at-x

lim =-1

x—=a x% - g%

then what is the value of a?
(a) -1
() 0
(c) 1
(d) 2

77. A particle starts from origin with

a velocity (in m/s) given by the
equation —d—t=x+1. The time (in

second) taken by the particle to
traverse a distance of 24 m is

(a) 1n24
(b) In5
fc) 2In5
(d) 2In4

78. What is

Iﬂ fla-x)
0 f(¥)+ fla- x)

equal to?
(a) a
(b) 2a
(cg O
a

(d) 2

[PT.0.




3 2
79. lim —X *X  fred s 27
x—-1x2 1 3x 42
(@) O

(b) 1
© 2

d) 3

80. IR
Jolrea + fl=x)ldx = [* glx)dx

2, @ g(x) o e 27
(@ flx

(b) fl=x)+ f(x)

() -f(x)

(d) 3% # | F1§ T

81. y=+16-x2, y >0 3N x-39 TN 9fEg &
1 &R 187

(@) 167 a1 378
(b) 8n & S
(c) 4m ai THT]

(d) 2n = 3FTE

FJY-D-MTC/66A
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82. 9% y=-x°+3x2+2x-27 #H ftFan
yaurar fFa w R?

fa) x=-1
(b) x=0
() x=1

d x=2

83. fFdt 24 cm @@ R F Argw wE Fys FwEn
S 8, o w6 Fv1 60° @1 R\ feman
YTl f%el a1l 36 Bige it S w7
(a) 43 cm
(b) 243 cm

(c) 6 cm

(d) 3 cm

84. afd f(x)=el*! , A Frafafaa & A F-w
wel 27

@ fO=1
() £10)=-1
€ £10)=0

(d) f'(0)F s 7d ?




79. What is

. xax?
lim T
x=-1x% +3x+2

equal to?
(@) O
(b) 1
(c) 2

(d 3

80. If

[yt + flenldx = [° glxdx

then what is g(x) equal to?
(@) f(x)

(b) fl=x)+f(x)

c) -f(x)

(d) None of the above

81. What is the area bounded by
y=v16-x2%, y>0 and the x-axis?

(a) 16n square units
(b) 8m square units
(c) 4mn square units

(d) 2mn square units
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82. The curve y=-x° +3x2 +2x-27 has
the maximum slope at

@) x=-1
(b) x=0
() x=1

(d) x=2

83. A 24 cm long wire is bent to form
a triangle with one of the angles as
60°. What is the altitude of the
triangle having the greatest possible
area?

(a) 43 cm
(b) 243 em
(c) 6 cm

(d) 3 cm

84. If f(x)=e'*!, then which one of the
following is correct?

(@) f0)=1
(b) f'0)=-1
(¢ f'0=0

(d) f’(0) does not exist

[P.T.O.



85. j_ﬂ—ﬁﬁaﬁmﬁ?

secx +tanx

(a) In(secx)+In|secx +tanx|+c
(b) In(secx)-In|secx+tanx|+c
(c) secxtanx-In|secx—tanx|+c

(d) In|secx+tanx|-In|secx|+c

86. j—i"—— e wreR 87
s;ecz(tan"1 X)

(a) sin"! x+¢

(b)) tan"lx+c
1

(c) sec' x+c

(d) cos'x+c

87, AR x+y=20 ¥ P=xy 3, @ P W
ftrepem A H=1 87

(a) 100
(b) 96
(c) 84

(d) 50

FJY-D-MTC/66A

88. x=e W x ¥ WNH sin(ln x) +cos(In x)
e (Sfafea) F &7

cosl —-sinl
>

(@)

sinl —cosl
e

(b)

cosl +sinl
e

(c)
(d 0

89. 4R x=e'cost dN y=e'sint ?, @ t=0
X foperds s ¥
dy

(@ O

(b) 1
() 2e
(@ -1
90. sin 2x-cos 2x F1 AFHan 7H F1 87

1
(a) 2
(b) 1

(c) 2

(@ 4




85. What is
[ -
sec x +tan x
equal to?
(a) In(secx)+In|secx+tanx|+c
(b) In(secx)-In|secx+tanx|+c
(c) secxtanx-In|secx-tanx|+c

(d) In|secx+tanx|-In|secx|+c

86. What is
[N T
s;ec:z(tz:u'x'1 X)
equal to?
(@) sin"!x+c
(b) tan"*x+c

(c) sec ' x+c

(d) cos'x+c

87. If x+y=20 and P =xy, then what is
the maximum value of P?

(@ 100
(b) 96
c) 84

(d) 50
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88. What is the derivative of
sin(In x) + cos(In x)

with respect to x at x=e?

cosl -sinl
e

(a)

sinl —cosl
e

(b)

cosl +sinl
e

(c)
d 0

89. If x=e'cost and y=e'sint, then

what is £ at t =0 equal to?
dy

(@ 0
() 1
(¢) 2e
(@ -1

90. What is the maximum value of
sin 2x-cos2x?

(a)

IS

() 1
€ 2

(@ 4

[P.T.O.



91. x° ¥ WM& e* I ATHeS HI 87 94, Fe f(x) =sinx % "o ¥ f=fafaa s

(@ xe* q{ﬁﬂim
ex® 1. 3iaud (0, m) # f(x) 998 B
m) &= 2: m(%,Sn)ﬁf{x]m%|
xe .
R e el 3 8 /A W Y
X
@ e*x (a) Fad 1
et (b) a2
92. aft F1§ aFHat e f(x) (c) 1 322
Tl e PR (d @ 13mad2

x—-1 x2 oy 2

ﬂmm%’a;}iﬁxﬂﬂmmg? 95. Fed f(x) =3* &1 ¥id #0127

3
@ -3 (@) (-
(b) -1 (b) (0,9
fe}. "0 () [0
e (@) (con 9~ (O}
93. afe %er
a+bx, x<l 096. IR TH FaFA GHFEU FH AUH F
f) =15 x=1 y? +2cy-cx+c? =0 ?, F&l ¢ T @D
b-ax, x>1 =R R, @ aFe wiww f FfE 7= R0
¥ad B, A (a+b) F TE 187 (@ 1
(@ S (b) 2
(b) 10
(¢ 15 (c) 3
(@) 20 - (d) 4
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91. What is the derivative of e*
respect to x®?

with

(@)

(h)e ==

(©

(@)

92. If a differentiable function f(x) satisfies

fig, JIRIL 9
x—-1 x2 =1 2

then what is lim f(x) equal to?
x—=-1
3
a _—
(a) 5

() -1
) 0
(@ 1

93. If the function

a+bx, x<l1
f)=15§ x=1
b-ax, x>1

is continuous, then what is the value
of (a+b)?

(@) S

(b) 10

fc) 15

(d) 20
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94. Consider the following statements in
respect of the function f(x)=sinx :

1. f(x)increases in the interval (0, n).
2. f(x) decreases in the interval
(=)
TR
Which of the above statements is/are
correct?
(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

95. What is the domain of the function
flx)=3%?

(@) (—= <9
(b) (0=
(c) [0, =9
(d) (e = —{0}

96. If the general solution of a differential
equation is y? +2cy-cx+c? =0,
where c is an arbitrary constant, then

what is the order of the differential
equation?

@ 1
(b) 2
(c) 3
@ 4

[ P.T.O.



97. el FHIH 100. Ie(2lnx+1nx’}dxm.a;w%?

‘ d?y 4
x=.1+—= x
2 a) —+c

= ara (feft) = R7

By Xo
o 1 (b) 3 +c
ket (c) Eﬂz
(c) 3 5
(d) =ra wfetia @ 2 0 x5 ok
& B
98. fi=fufaa & ¥ fra sEsa wiiew F1 A9H
Ty =ae” +be”* ¥ 101. N el % wh agea % R 3w wah ¥
d2y FrefaRea wat w fem Hift
(@ —+y=0 :
dx? 1. GHiG e
%y 2, TOIRR WA
(b) —5-y=0
dx e § A PA-w/R wft adiEs B o A3
fc) —=+y=1
dx? (a) Fad 1
@ %-—y=0 (b) Fed 2
(c) 1 3R 23t
d A 1MAA2
99, IEwHd THIH! @ 2
: 1n[@)+y=x 102. & Fot § FrEiw fgw, e R T
ax wraE! $ gen HE: 30, 70 v 50 ®1 AR
FEA TR , 7 Jfwel F T gEra Fa fFefia B s,
_ A fagm Eaw! %1 Era Ho & e
(a) e*+eY=c
(a) 36°
{b) ex+y=c (b} 72°
(c) e*-e¥Y=c (c) 120°
(d e*Y=c (d) 168°
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97. What is the degree of the following
differential equation?

2

x= 1+%
(a) 1
() 2
() 3

(d) Degree is not defined

98. Which one of the following differential
equations has the general solution
y=ae* +be™*? '

(a) PHJ:O

(b)) — -y=0
LT

(c) Ix +y

B =0

99. What is the solution of the following
differential equation?

ln[%)+y=x'
(a) e*+eY =c
(b) e*¥=c
(c) e*-eY=c

(d) e*¥=c

FJY-D-MTC/66A

100. What is [e@ %+ 0 gy equal to?

x4

(fa) —+c
(b) —’53—-+c
(c) —+c

({d —+c

101. Consider the following measures of

central tendency for a set of N
numbers :

1. Arithmetic mean
2. Geometric mean

Which of the above uses/use all the
data?

{a) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

102. The numbers of Science, Arts and

Commerce graduates working in
a company are 30, 70 and S0
respectively. If these figures are
represented by a pie chart, then
what is the angle corresponding to
Science graduates?

(@) 36°
(b) 72°
() 120°
(d) 168°

[PT.0.



103. 3EgE @ Faudl 9l R SRERdal 929 W 106. 3fe n Jeoit
JuiE  aEarn % fae Rt @ f

araral e g § B =fee? x -k xp-k x3-k -, x, -k
(a) @@ o S w1 e MR, el k T awafas wemn €, @
P — X1, X, Xg, +y X 1 F1RY
() <t <rer M
(d) HrEa &1 9REY Ly 54
() M-k
104, GEHaY VI WA B (d) kM

(a) Fae Tha F gfEdd 9

(b) e e (STRM) % dhed @ 107. fex @Hl 73, 85, 92, 105, 120 * T

Mg | Tl 1 Iee @ =7
(c) e AR gaferg I F TREda 9 @ -2
(d) 7 e, 7 A geifrg % afEd | ) -1
(¢) O
105. fr=faRaa aroft 198 wet wfidt & g W&
Tt el el ) wEd Hil qHawar ded H @d S
mﬁﬂ%:
n # g 1|2|3[4|5]|6]|7 :
: 108. AW ST x B YR FES m X n
il s DL A A A HM 2 3l y 37 GM &1 9t Sx =4y &, di
25 Wz 1 wiftie 1 27 Frfefiaa § ¥ Fm-w w8 27
(@) 3 (@) 5m=4n
(b) 4 (b) 2m=n
(c) 5 (c) 4m=35n
(d) 6 : foN (d) m=4n
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104. The

103. For a histogram based on a frequency

distribution with unequal class
intervals, the frequency of a class
should be proportional to

(a) the height of the rectangle
(b) the area of the rectangle
(c) the width of the rectangle

(d) the perimeter of the rectangle

coefficient of correlation is

independent of
(a) change of scale only
(b) change of origin only

c) both change of scale and change
of origin

(d) neither change of scale nor
change of origin

105. The following table gives the frequency

distribution of number of peas per
pea pod of 198 pods :

Number of peas| 1 |2 (3 |4 | 5|6 |7

Frequency 4 |33|76(50/26| 8 |1

What is the
distribution?

median of this

(a) 3
(b) 4
(c) 5
(@ 6

FJY-D-MTC/66A
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106. If M is the mean of n observations

x) -k, x5 =k, x3 -k, -+, x, -k, where
k is any real number, then what is
the mean of x;, x5, x3, -+, X, ?

(@) M
(b) M+k
(c) M-k

(d) kM

107. What is the sum of deviations of the

variate values 73, 85, 92, 105, 120
from their mean?

(@) 2
(b) -1
(c) O

(d S

108. Let x be the HM and y be the GM of two

positive numbers m and n. If 5x =4y,
then which one of the following is
correct?

(a) Sm=4n
(b) 2m=n
(c) 4m=5n

(d m=4n
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109. 7R fxdf arERa de1 w1 WA 100 ® 3R 112. 12 devit =1 mwa 75 21 IR A g H g

R T 45% ¥, @ W F A =R o s 3, @ 39 Jewit F WA 65 | WY
MU el 1 W =18l
(a) 2025
(@) 250
(b) 450
© 45 (b) 125
(d) 45 (c) 120
(@) s et % @ Ruifa T
110. 7H iR @ Tzt A ¥R B W @R & A
P(A)=L ¥R PB) =M %) Fefafes # @
-1 wE }?
113. R @i x(x+1)+1=0 F T a0 k B,
(a) P(AIB)<L+:;"1 A TaH g0 qF F1 87
(a) 1
L+M-1
(b) P(A|B)>=—F— b) -k
3 (c) k2
() P(AlB)ZL'l';; 1
(d) -k?
@ Pl =2

114. Yol F TF GgEE B PR e w1 IR
10 ¥ &9 # R o ¥ AR T2 NG x;

ﬁsx;‘ﬂwﬁmﬁaﬁmmﬁmm
111, Prefifaa genel % e wg=m % g @,

e i g (i) A THEEE R e B
(@ 12, 12, 12, 12, 24 (@) 810
(b) 6, 18, 18, 18, 30 (b) 900
(c) 6,6, 12, 30, 36 (c) 30000
(d) 6, 6,6, 12, 30 (d) 81000
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109. If the mean of a frequency distribution
is 100 and the coefficient of variation
is 45%, then what is the value of the
variance?

(a) 2025
(b) 450
(c) 45

(d) 45

) 110. Let two events A and B be such that
P(A)=L and P(B)= M. Which one of
the following is correct?

L+M-1
(a) P[A!B}<T

L+M-1
(b) P(AIB)>——M—

L+M-=1
(c) P(A]B)ZT

@ Pl =201

111. For which of the following sets of
numbers do the mean, median and
mode have the same value?

(@ 12, 12, 12, 12, 24
(b) 6, 18, 18, 18, 30
c) 6,6, 12, 30, 36

(d) 6,6, 6, 12, 30

FJY-D-MTC/66A

112, The mean of 12 observations is 75.
If two observations are discarded,
then the mean of the remaining
observations is 65. What is the mean
of the discarded observations?

(a) 250
(b) 125
(c) 120

(d) Cannot be determined due to
insufficient data

113. If k is one of the roots of the equation
X(x+1)+1=0, then what is its other
root?

(@ 1
(b) -k
(c) k2

(d) —k2

114. The geometric mean of a set of
observations is computed as 10. The
geometric mean obtained when each
observation x; is replaced by 3"‘1'4 is

(@) 810
(b) 900
() 30000

(d) 81000

[P.T.O.




115. 7f2 P(AuB)=g. P[AnB):% afr 118.@ﬁ%mﬁ,mwgaﬂtwg%|w

PUA) =1 2, @ e # @ -/ 8 e & s g W X =2 817
/e (@) %
1. A3R B g2 §1 o
2. A 3R BWER vafsid geAmd £ (b) e
Hr fow e e 1 W W wed I g - 25
(a) *aE 1 54
25
(b) e 2 @ 2
() 1323

(d) A1 ARAE2 119. o wwE 10, 12, 13, 15, 15, 13, 12,

10, x 1 Sga® 15 2, @ x 1 0H H1 87
116. 15 J&vil % TF og=d F 30wa & ferid o

St %, frg 9w # ¥ vl e § 6w i) 29
Yeor & zer F WH W Ted ¥ 3 F F.d 8 (b) 12
R w911 Ygw A EORE FE F AR, (c) 13
st @ 15
(@) %‘E’W
120. 7R A 3 B 2 vz @ W & F6 P(A) = >
10 4
() 5 T 5
@RP@):E,aﬁﬁmﬁTﬁﬁmﬂ:ﬁmﬁaﬂ
10
(c) qum i
(d) 50 % STem 1. P(Ausmuaanrrra%%;
5
117. wF fo B A a1 Iowen s ¥ AR E v P 2. P(AnB) F S 7H R
F: Yed o TR v (M) | fua (*9)
AR $ weT W i §, @ PEUF) fees I el # A BE-T/A /87
R R (a) Fad 1
(@) % (b) % (b) FaA 2
(c) 1 3R 23
© 2 @ %
4 3 (d A@1ARIA2
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115. If P(AuB)=§, P(AnB)=%— o 118. In a binomial distribution, the mean

=T is 2 and variance is —5- What is the
P(A) ==, then which of the following 3 9 :
2 probability that random variable

is/are correct? X=27
1. A and B are independent events. (a) 555
2. A and B are mutually exclusive 25
events. ' s
(b) 3
Select the correct answer using the 25
code given below. (c) 54
(@) 1 only 25
(@ —
(b) 2 only 216

() Both 1 and 2
119. If the mode of the scores 10, 12, 13,

(d) Neither 1 nor 2 15, 15, 13, 12, 10, x is 15, then
what is the value of x?
116. The average of a set of 15 observations (@ 10
is recorded, but later it is found that
for one observation, the digit in the (b) 12
tens place was wrongly recorded as (c) 13
8 instead of 3. After correcting the d 15
observation, the average is
(a) reduced by 1 120. If A and B are two events such that

P(A)=§ and P{B)=§, then consider
) 10 1 8
(b) increased by = the following statements :

10 1. The minimum value of P(Au B)
(c) reduced by — '
3 is 7

{d) reduced by 50 2. The maximum value of P(An B)

S
117. A coin is tossed twice. If E and F ® 8

denote occurrence of head on first

toss and second toss respectively, Which of the above statements is/are

then what is P(E U F) equal to? correct?

1 1 (@) 1 only
" 4 i 2 (b) 2 only

3 1 (c) Both 1 and 2
(€ — (@ = '

b 3 (d) Neither 1 nor 2
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want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
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. Penalty for wrong answers :
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(i) There are four alternatives for the answer to every question. For each question for which a
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(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
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question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T 7 jTWTIﬁ?TmWWTWWW?I
48




